REVIEW
Integrated Math 2 Nameikkc & co A
Key Concept 7 REVIEW riod:
Target 7A: Use the Pythagorean Theorem to find missing sid

es of right triangles in application problems.
a’ + b? =®
&~ hypoteuuse

1. Atentis supported by a rope tied to a stake, as shown in the diagram. What is the length of the rope?
(1 point)
2 2 = %
G +12° =X
gl +144 = x*

{775 = [x*
l5fu+ =X ]

2. Inthe following picture, find the height that the ladder reaches. Round your answer to the nearest hundredth.
(1 point)

b2+ h*=14"

% + h? = 190

- - 30
Ih* =floo
[ h=12.65n]

3. Rhonda is planning a right triangular garden. She marked two sides that measure 27 feet and 7 feet. What is
the length of side n? (1 point)
2 2 _ 2
3240t = 27
q + nt 729
-9 — 49
n* =680
W\ = 26.0¥ '?evl'j




4,

5.

In construction, floor space must be planned for staircases. If the vertical distance between the first and
second floors is 375 cm, and a contractor is using the standard step pattern of 30 cm wide for 15 cm high:
(3 points)

a) How many steps are needed to get from the first to the 2% Floor
second floor?

315 em (tota)) 75 SJWP\J

IS ¢ M (step height) 375 em

b) How much horizontal distance (i.e. width or base) will
be needed for the staircase? —

25 S+(p5 ] 30 CW ?(V S—\-(P = :I»So CM width/base

/ 1t Floor

c) What s the length of the railing (i.e. diagonal) that would be attached to
these stairs?

33152+ 7502 = x”
303,125 =§k*
@3?°63 L = X I B width/base

I50Cm

375 cm

A baseball “diamond” is actually a square with sides of 27 meters. If a runner tries to steal second base, how far
must the catcher, at home plate, throw to get the runner “out”? Given this information, explain why runners
more often try to steal second base rather than third. (3 points)

| 21%+23% =

(38,!3 MeterS = X ]

(Notoher o 2" pases 8. 1€ M
Cotcher 1o 3¢ pase. 27 m

2

The Cotcher Was a longer thow o 2hd use S0
sumwevs will move oSten Steal 2"¢ pase rather than
274 pase , whic 15 Loy T the Qatcher



Target 7B: Define the trigonometric ratios for acute angles in a right triangle and calculate sine, cosine, and tangent
ratios when given two side lengths.

. opposite adjacent opposite
sin=———— 0§ = ——— tan = ———
hypotenuse hypotenuse adjacent

6. Identify the ratio of cos C. (1 point)

- d-dA _ 10 _g_ hyp
cosC h\lP— \9 égl 2 10

d)
A B
7. ldentify the ratio of tan A. (1 point)
_ 0 2 C
a4 J 3 o "‘ 27
opp
A 36 B
“d)
8. Identify the ratio of sin 8. (1 point)
swp=2 - 13 o [5 9
h\‘ P 2‘| “ O;; o 24 cm
hWyp

9. Ifos@ = g, find sin 8 by completing parts a), b) and ¢). (3 points)

a) Draw and label the diagram.

41 (wyp)
Copp
40 (ad))
b) Find the missing side. 2

4092 + y* = 41
600 +x* = 10%! —b

-\l =100

— TR ——

c) Identify the trigonometric ratio of sin 6.

sino=20° - | Q4
e 41

X
]
o)




10. Given the right triangle, answer parts a), b), and c). (3 points):

a) IdentifysinB. = °pp 3 3‘—-
hye = 29

b) Identify cos A.

c) Explain the relationship between the two trigonometric ratios and the acute
angle measures.

B and A are complenentary owgles,
“‘+werefove sin%= coSA.The rarios are
+Hhe Same.

Target 7C: Use the characteristics of similar figures to justify the trigonometric ratios.

11. Prove that sin € and sin D are equal. (1 point) sin = _opposite

e =282 = G 2
sinC Y \oﬁ =

hypotenuse

\I\ypol-pmsg
29
21 A

12. AABC~ADEF. Given cos A = —. Whatis cos D? (1 point) cos = —Jacent_
61 hypotenuse
A
. . . . __ opposite
13. AABC~ADEF. ldentify sinD. (1 point) sin = Typotenuse
N4 sinD =sinA
A
sinA = j.a_L = 3_5- h\,%
Ye 33 7 12
1
: 8
“+herefove Sls mdD= 22 B 3 C
33 opp

B(D




14. Given the right triangle, answer parts a) and b). (3 points):

a) Find the sine ratios of the corresponding non-right angles
for AABC and ADEF. Are they equivalent?

5 - 35-5_
sind = \3 sinD = q\ \3 .
B
o _\2 84 _ 12 91
sinB = —‘—3— sinE —-qT h 13 . 35
\/es,equ.ivatem+ ) A - c F 5 0

b) Explain how your result from #4 supports the triangles
being similar.

TI5 awngles arc =, +hen by AAm~
+ihe triongles Ove similar.

15. Given two similar right triangles, AACD and AABE, use the diagram to answer parts a), b), and c). (3 points)

a) Solve fory. 2
5*+12* =y
{leq =[y*

13 = *

b) Solve for x.

262 +y? ‘o%z

0gs +x2 = 4225 I .

-

@5 "6is
XL =[3000 —b(x=00 25

c) Isthesin£ZADE = sinZABC? Show.your work.
in L ADE=2PP = .
s hye \S ‘ m-ﬂn ratios are equa‘-,

SinABC=000 - 25 5
hy p L5 13




